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alpha13_4eX1X:cyclenum {run == 8171}
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10608 10608.5 10609 10609.5 10610
cyclenum

24

24.5

25

25.5

26

us
l_

4e
Y

usl_4eY:cyclenum {run == 8171}
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10608 10608.5 10609 10609.5 10610
cyclenum

5685.5

5686

5686.5

5687

5687.5

us
r_

co
il4
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10608 10608.5 10609 10609.5 10610
cyclenum

33.5−

33−

32.5−

32−

31.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8171}



10608 10608.5 10609 10609.5 10610
cyclenum

238.5−

238−

237.5−

237−

236.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8171}
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run:cyclenum {run == 8171}
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